RECORD OF

Statistical Statements

£ = Y 3
e ~ \ ~
\ A g an X g
acy -
: A
N =
- _ b ] b
¥,
£ = 4 : 'y
i, - 4 >
- ’ -
z = - % .\\ ~ N
- e -
P Lo ~
08 . ~a g
e . ’ !
o e < e i
2 4 RPN :S.. -
L < - 3 X, - o P
S 3
" _— ¥ il o -
3 ), > — -
- ¥ A\
< - :
. - . ~ '
» & o B 2 3
8 r —~ e
o ~5 -
- e Ay L] >
2 ~ | Ay ~
- 4
» .", r ;
- - L o
.
A
r. = H
o s PR
s - ¥
e ¥ S
B e \
8




—

object of the following Tive questions Is to obtain not only the total
amj-cgoe of the farm, but the condition ln which it is now Tound,
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but the condition In whick it is now found,

The object of the following five questions is to obtain not only the total
acreage of the farm,
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but the condition in which it is now Tound,

object of the following five questions is to obtain not oaly the total
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The object of the following five questions is to obtain not only the total

but the condition in which it is now found,

acreage of the farm,
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The object of the following five questions is to obtain not only the total
acreage of the farm, but the condition in which it is now found,
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but the condition in which it is now found,
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questions is to obtain not only the total

the condition in which it is now found,

five
yut

f

the

*

ibject of the Follc

Icreage

AN

sud parp

pusy uo

1sed paip s:

(
BpIey JIA0[0) 89

0061 peras[d oy
03 pur pajurid sa0}
~B10J 199MQ SAI0 Y

1e[d

"UMOS ¢
UMOS X

61 Jo
A0] UMOS 3Ly €9

‘0061 ‘umos a
PUR UM08 :B() so10y

‘0061
pe 2q 09 *:_ﬂ
pe 00) 8210y

¢

81 uI
UMOs ,f/ .IA;,_;/\

TOWNSHIPS.

1 ‘smo0
818)

16

-t




The object of the following five questions is to obtaln not only the total
acreage of the farm, but the condition in which it is now found,

TOWNSHIPS.

n lor «

No. Sheep on hand

April 1, 1900.

three questions.
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